St2Al AlTHZ2 AAK 2 YOI Al

ANEEEs D (
58 12(”) 52 29 (35}) 52 3 (%) 52 4Y(=2) 52 59 (2
NESESE ST S XX =TI VRS
=) Talfe-E== -ESAIXIMN |(1.5.6.13.) (2.5.6.)
(5.6.) (5.6.9.10.13.) |- Q0IXIR =& - 20/T2(13.)
. - S X2y = - Otef ks [(13.) N = y=PU e
QEEL‘%%Q (5&10.13.1@1) (5.;13.) ) - 2E1(9.) (1.;2.5.6.12.13.)
CRUEEOR | L HLZRRD |- EXOHE R - SIEZEY
(5.13.) (2.5.6.12.13.15.|(1.5.6.9.13.)  [(1.2.5.6.12.)
-HiE2XI(9.) [16.18.) SEEFZA(13)) |- 0lLEDIIHA
- EZDMITZ2| - HE224H |- OF2E L0 [(1.2.5.6.10.13.1
Z(1.2.5.6.13.) [(1.2.5.6.12.13.)|(2.5.6.13.) 5.16.18.)
- E22AXI(9.)
A2 AR AR S AFT AR 2AAHK
y =P =NPN; =NPN; =NPN; =INPN;
X (H=)/ =018 ZUHAH/ZUHA | ZUHAH/ZUHA | Z2UHAH/ 22U | 2UA/2U4 | 2L &/ =
—(=2) /iD= ZHAH(ER)/2 | 2UHAH(EIR)/2 | 2LHA(BIR)/2 | 2UHAH(EIR)/2 | 2LHAH(ER)
ER)/IHSE e e e e e
YR DI/ INRE WA/ ZUHA | 2UHA/ZUA | ZUWHA/Z2UA | ZUWAH/2UL | Z2UA/2U
S|/ ItRE WA/ ZUHAE | ZUHAH/ZUA | Z2UA/2UA | Z2UAH/2U6 | 2Ua/=2U
Qe|NI/IRE WA/ ZUHA | 2UHA/ZUA | ZUHA/Z2UA | ZUHA/2UL | 22U/ 2U
YX/oEE E2HE2L | B2/E2Y | E2/EZN | B2A/EZ4 | E20/E2
HEH/IIRE 2 AlOF&H/ 21 ALOFAH/ 21 ALOFAH/ 2 ALOF&H/ 24 AlOF &
DEN/IIZRE ZUHAH/ZUHA | ZUHAH/ZUHA | Z2UHAH/ 22U | 2UA/2U4 | 2L &/ =
22X /IBRE A/ ZLHA | 2LHA/ WA | 2UHA/2UA | ZWHA/2UA | WA/ 2U
QEN/INBE 22U A =P =P =P 2Ly A
ZH/oIR=E 2R AL/ 2L AH/ 2L AH/ =11 Py =11PN;
AXD|/H2RE 2R AL/ =11 Py 2L AH/ =11 Py =11 Py
CHetol/ot2 = SIQEAR(ZH) SIQEAH(ZH) SUIQFAH(ZH) SUIQFAH(ZH) 21Ok AH(ZH
=nQ|/H==E EN24H, S24F | B2, 24 | B2, S28 | BI24H, =248 | B2, 24
E8, = =N 2ULY A =P =P 2Ly A
Hl 2
g -]
R =T ToO
HorA i it e o oret X orak X orak o okat o ket
ez | g
JVIERX
Ol LA Xl (keal ) | 750.88 | 750.88 1.1 727.9 801.3 755.6 752.5
SES-2=1(0) 56. 1 97.7 121.7 120.3 101.3
CHE Rl (g) 19.10 | 19.10 16.6 38.6 45.3 27.8 19.0
Xg(g) 27.3 21.9 20.7 19.6 33.2
HIEFQIA(R.E)| 167.85 | 234.02 336.8 354. 1 142.8 247 .4 602.9
EIOI2!(mg) | 0.30 0.38 0.8 0.8 0.7 0.3 1.3
[SE=IN]
cl23ck 0.37 0.44 1.0 0.8 0.8 0.6 1.6
(mg)
HIEFSIC(mg) | 23.64 | 30.48 36.7 1.5 5.2 49.5 80.6
2r#&(mg) | 249.67 | 307.30 251.7 231.5 162.4 207.0 406.0
= (mg) 3.77 4.92 5.3 4.7 5.0 8.3 3.3
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